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I. Which is the major product of the following reactions?

el CHyCl KOs
FeCl  FeCh. iSO,

a) para chlorobenzoic acid bt meta chlorobenzoie acid
¢)  amixture of para and meta chlorobenzoic acid d)  amixture of ortho and para

chlorobenzoic acid

2. Which statements are true for an E1 reaction?
[ The rate limiting step of the reaction invelves only the alkyl halide.
IT) The rate limiting step of the reaction involves the alkyl halide and the base.
III) There is an intermediate carbocation,
[V) The order of reactivity is 19225237,
a) I, 111 by 11 ¢ L OLIY dy ILIV

3. Which is the major product of the following reaction?

.0
o, 5 :

"N C-CH-CHCH, Ll
HslZ

a}) 3-pentanol b 4-methyl-3,4-pentanediol ¢) 2-pentanol d]  Z-methyl-2,3-pentanediol

4. Which compounds contain stereocenters? a) I 11 by UL IV )1 UL d) 11, IV
(I) 2-methylpentane (I} chlorocyclohexane  (II1) 3-methyl-2-butanol (v}
2-hydroxypropanoic acid

3. Arrange the bonds in increasing order of ionic character {least first).
C-C MNa-0 C-N 0-H C-0
l 11 (11 1V Vv
a) L LIV, ILV bV IILLILIV oL ULV, IV,IT  d) LI I, IV, V

_6. Inn which of the following alkanes are carbons not tetrahedral ?
a) cyclopropane b propane ) ethane  d) cyclohexane

7. How many trans isomers are there for an alkene with the formula, C4H-C17?
8 2 by 3 &)y 6 d)y B

8. Which statement does not describe a transition state?
a) Possesses a definite pepmetry b)) Maximum on the potential energy diagram
¢)  Structure can be determined experimentally d) Can not be isolated
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9. Which compound is the strongest base?

CH;y

: CHy
b) CH3NH

- |
a} CHyNH; ¢} CHyNCH;

10, Which is the major product of the following reaction?
n « jﬂﬂ
o MeBH mol o Mg S
(2] e i

1. Which compound is the most soluble in water?

a [

@I’l{ni&

a) 1l by IT cil  dyIv

12, Which is the correct structure for D-glyceraldehyde?

H AL

d) cuNi; B
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= ~ Assign priorities to the groups in each set. (Increase to decrease) (4 pt)

{1} 8l —CHy b} —CH8H & —NHy o) —cooH

i2) 8) —CH,CH=CH; ) —C=CHz o) —CHCHy df —CHCO0H

ez - Show how to convert? (10 pt)

© o
L o, OB : L, CNHy
af TEL TN =< U W
e o W
nizolini: azid alhyl recatinabe nizoliramids

b) cyclohexene to cyclohexanone in two steps

4 » 2-Phenyl-2-butanol can be synthesized by three different combinations of a Grignard reagent and a

ketone. Show esach combipation. (12 pL}

#7 » Propose a structure and assign each 'H-NMR peaks for compound B, which molecular formula

CizH 40, Following are its 'H-NMR and ""C-NMR spectra: (8 pt)
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